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1 Introduction
11  Objectives

Public Transportation System?@| Unit testE o €3t 231}t 7|=

dHQ QFAr, test =750 3| MEHo=Z FA|DH.
1.2 References
[2014SE_A][T2]SRA_2_1
[2014SE_A][T2]SDS
DS-2014SE-PTS-SRS-1.0
2 Unit test case specification
2.1 Test case specification identifier
1) Bus System

Identifier Input Specification

BUS.UTC.120.000 newCD.inout == "OUT" && newCD.transport == “Bus” &&
CurTime - newCD.time < 200 Input

BUS.UTC.120.001 newCD.inout == "OUT" && newCD.transport == "Bus” &&
CurTime - newCD.time > 200 Input

BUS.UTC.120.002 newCD.sensorlnfo == oldCD.sensorlnfo && newCD.inout ==
"IN" && newCD.transport == “Bus” && oldCD.balance -
newCD.balance == 1050

BUS.UTC.120.003 newCD.sensorlnfo == oldCD.sensorlnfo && newCD.inout ==
"IN" && newCD.transport == “Bus” && oldCD.balance —
newCD.balance != 1050

BUS.UTC.120.004 newCD.sensorInfo != oldCD.sensorlnfo && newCD.inout ==
"IN" && newCD.transport == “Bus”

BUS.UTC.120.005 newCD.sensorlnfo == oldCD.sensorinfo && newCD.inout ==
"OUT"” &8& newCD.transport == “Bus”

BUS.UTC.120.006 newCD.inout == “IN" && newCD.transport == “Metro" &&
oldCD.balance == newCD.balance
BUS.UTC.120.007 newCD.inout == “IN" && newCD.transport == “Metro" &&
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Output
Specification
TR = TRUE
TR = FALSE
PTR = TRUE
D1 = TRUE
PTR = TRUE
D2 = TRUE
PTR = FALSE
D2 = TRUE
PTR = TRUE
D1 = FALSE
D2 = FALSE
D3 = TRUE
D3 = FALSE
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BUS.UTC.131.000

BUS.UTC.131.001
BUS.UTC.131.002
BUS.UTC.131.003
BUS.UTC.131.004
BUS.UTC.131.005
BUS.UTC.131.006

BUS.UTC.131.007

BUS.UTC.211.000
BUS.UTC.211.001

oldCD.balance != newCD.balance

Tag == 1 && inout == "IN" && Tr == FALSE && d1 ==
FALSE && d2 == FALSE && d3 == FALSE Input
Tag == 1 && inout == “IN" && Tr == TRUE Input

Tag == 1 && inout == "IN" && d1 = TRUE Input
Tag == 1 && inout == "IN" && d2 = TRUE Input
Tag == 1 && inout == "IN" && d3 = TRUE Input
Tag == 1 && inout == “OUT" && pTr == FALSE Input

Tag == 1 && inout == "OUT" && pTr == TRUE Input &&
CurTime — pTagTime < 400

Tag == 1 && inout == "OUT" && pTr == TRUE Input &&
CurTime — pTagTime = 400

Tag == 1 && Balance < Fare Input

Tag == 1 && Balance > Fare Input

2) Subway System

Identifier

SUB.UTC.120.000

SUB.UTC.120.001

SUB.UTC.120.002

SUB.UTC.120.003

SUB.UTC.120.004

SUB.UTC.120.005

Input Specification

newCD.inout == "OUT" && newCD.transport == “Metro” &&
CurTime - newCD.time < 200 Input

newCD.inout == "OUT" && newCD.transport == “Metro” &&
CurTime - newCD.time > 200 Input

newCD.sensorInfo == oldCD.sensorInfo && newCD.inout ==
“IN" && newCD.transport == “Metro” && oldCD.balance -
newCD.balance == 1050

newCD.sensorInfo == oldCD.sensorInfo && newCD.inout ==
“IN" && newCD.transport == “Metro” && oldCD.balance -
newCD.balance != 1050

newCD.sensorInfo != oldCD.sensorlnfo && newCD.inout ==
"IN" && newCD.transport == "Metro”

newCD.sensorInfo == oldCD.sensorInfo && newCD.inout ==
"OUT” && newCD.transport == "Metro”
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Fare = 1050

Fare = 0
Fare = 1250
Fare = 1650
Fare = 1750

Fare = 0

Fare = 0

Fare = 100

Balance_Lack();

Tag();

Output
Specification
TR = TRUE

TR = FALSE

PTR = TRUE
D1 = TRUE

PTR = TRUE
D2 = TRUE

PTR = FALSE
D2 = TRUE
PTR = TRUE
D1 = FALSE
D2 = FALSE



SUB.UTC.120.006 newCD.inout == "IN" && newCD.transport == "BUS" &&
oldCD.balance == newCD.balance

SUB.UTC.120.007 newCD.inout == "IN" && newCD.transport == "BUS" &&
oldCD.balance != newCD.balance

SUB.UTC.131.000 Tag == 1 && inout == "IN" && Tr == FALSE && d1 ==
FALSE && d2 == FALSE && d3 == FALSE Input

SUB.UTC.131.001 Tag == 1 && inout == "“IN" && Tr == TRUE Input

SUB.UTC.131.002 Tag == 1 && inout == "IN" && d1 = TRUE Input
SUB.UTC.131.003 Tag == 1 && inout == “IN" && d2 = TRUE Input
SUB.UTC.131.004 Tag == 1 && inout == "IN" && d3 = TRUE Input
SUB.UTC.131.005 Tag == 1 && inout == "OUT" && pTr == FALSE Input

SUB.UTC.131.006 Tag == 1 && inout == "OUT" && pTr == TRUE Input &&
CurTime — pTagTime < 400

SUB.UTC.131.007 Tag == 1 && inout == "OUT" && pTr == TRUE Input &&
CurTime — pTagTime = 400

SUB.UTC.211.000 Tag == 1 && Balance < Fare Input

SUB.UTC.211.001 Tag == 1 && Balance > Fare Input

3) Adjust System

Identifier Input Specification

ADJ.UTC.120.000  Buffer != NULL
ADJ.UTC.212.000 TF !=NULL

2.2 Test items

Ver. 1.0

D3 = TRUE
D3 = FALSE
Fare = 1050
Fare = 0
Fare = 1250
Fare = 1650
Fare = 1750
Fare = 0
Fare = 0
Fare = 100

Balance_Lack();

Tag();

Output
Specification
TF 1= NULL
Total_BusFare

Total_SubwayFare
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New
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2.3 Input specifications
1) Bus System

Input

CardData.time
CardData.transport
CardData.inout

(3txh

Tick

Tick[Tag==1&&IN&&D3]
[Trigger “A|PE->H~ O] H SR

>X|8HE

HA >RSI XHE->HA
1] B2 OIE A
e 1)) &)

Input Specification

String
String
String
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int

String

char

char

char

Int

int

2) Subway System

String
String
String

int

String

char

char

char

Int

int
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3) Adjust System

24  Output specifications

4) Bus System

String

String
String

int

String

char

char
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5) Subway System

String
String
String

int

String
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char

char

char

Int

int

6) Adjust System

Struct record{String, String, String,int,
String,}

int

3 Environmental needs
PTSO| unit testE 9%+ 28X @7 AIY2 Chaa 2L
(1) Hardware & Platform, gcc compiler/linker
(2) CTIP(Continuous Testing & Integration Platform) Environment
Test tools
CUnit unit test framework for C
4 Unit test summary report
41  Test summary report identifier

4.2  Evaluation
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1)

2)

H A E
==

Bus System

Running Refine Process

Running test BUS.UTC.120.000
Running test BUS.UTC.120.001
Running test BUS.UTC.120.002
Running test BUS.UTC.120.003
Running test BUS.UTC.120.004
Running test BUS.UTC.120.005
Running test BUS.UTC.120.006
Running test BUS.UTC.120.007
Running Calculate Controller
Running test BUS.UTC.131.000
Running test BUS.UTC.131.001
Running test BUS.UTC.131.002
Running test BUS.UTC.131.003
Running test BUS.UTC.131.004
Running test BUS.UTC.131.005
Running test BUS.UTC.131.006
Running test BUS.UTC.131.007
Running Output Controller
BUS.UTC.211.000
BUS.UTC.211.001

Subway System

Running Refine Process

Running test SUB.UTC.160.000
Running test SUB.UTC.160.001
Running test SUB.UTC.160.002
Running test SUB.UTC.160.003
Running test SUB.UTC.160.004
Running test SUB.UTC.160.005
Running test SUB.UTC.160.006
Running test SUB.UTC.160.007

Running Calculate Controller

)

AT2 Team

PASSED
PASSED
PASSED
PASSED
PASSED
PASSED
PASSED
PASSED

PASSED
PASSED
PASSED
PASSED
PASSED
PASSED
PASSED
PASSED

PASSED
PASSED

PASSED
PASSED
PASSED
PASSED
PASSED
PASSED
PASSED
PASSED
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3)

Running test SUB.UTC.171.000
Running test SUB.UTC.171.001
Running test SUB.UTC.171.002
Running test SUB.UTC.171.003
Running test SUB.UTC.171.004
Running test SUB.UTC.171.005
Running test SUB.UTC.171.006
Running test SUB.UTC.171.007
Running Output Controller
SUB.UTC.211.000
SUB.UTC.211.001
Adjust System

Running Refine Process

Running test ADJ.UTC.120.000
Running test ADJ.UTC.211.000

AT2 Team

PASSED
PASSED
PASSED
PASSED
PASSED
PASSED
PASSED
PASSED

PASSED
PASSED

PASSED
PASSED
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